
33. The positive slope of the short-run aggregate supply curve is due to: misperceived real wages.

34. A rightward shift of the AD curve is most likely caused by an increase in: the federal deficit.

35. The self-correction mechanism that moves the economy from the short run to the long run
is based on:

disequilibrium in the resource
markets.

36. The short-run aggregate supply curve is like the market supply curve in that: both have a price variable.

37. Supply-management policies are designed to shift the: AS curve.

38. The time required to move from the short run to the long run: is shorter for more technologically
advanced economies.

39. The total real production of final goods and services available to the domestic economy at
a range of price levels during a given time period is:

aggregate supply.

40. The two most noted stabilization policies are:; fiscal and monetary.
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